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N7y FEVROZFDIEEY 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WHITFILRVEY 1 0 1 1 0 0 0 1 0 0 0 60 0 0 0 60 0 0 0 60
63l Ly 2 1 2 2 0 0 0 2 1 0 1 1220 0 0 0 1220 630 0 630 1850
s7(=ha bV 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
159|172 IVF7IV 0 0 2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
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20| bZ7O00TFL YV 1 1 1 1 0 0 0 1 1 0 1 6900 0 0 0 6900 1700 0 1700 8600
201 | 2@z FL v 1 1 1 1 0 0 0 1 1 0 1 3000 0 0 0 3000 3100 0 3100 6100
219|2, 4, 6—KY=hOKMILTYV 1 2 3 0 1 0 0 1 2 0 2 0 29 0 0 29 150 0 150 179
22411, 3, B—KNUAFIIRVEFY 1 0 1 1 0 0 0 1 0 0 0 83 0 0 0 83 0 0 0 83
27| LT 4 1 4 4 0 0 0 4 1 0 1 6100 0 0 0 6100 2100 0 2100 8200
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53|l RSV 1 0 1 1 0 0 0 1 0 0 0 10 0 0 0 10 0 0 0 10
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